Multiplying Simple Polynomials
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PRE-CALCULUS 11
MATHEMATICS 10 REVIEW
MULTIPLYING SIMPLE POLYNOMIALS

1) Simplify the following.
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Assignment: Multiplying Polynomials Assignment #1, 2, 3
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Polynomial Operations Lesson #2: Multiplications of Polynomials Part - One 11

Asslgnment

1. Expand and simplify where possible.
a) 6(7x-3) b) -4(4x+9) ¢ 4x2y+8z) d) -x(x-5y)

) 5(8x—3y) +2(dy+x) 1) 3a(2a%b - ab + b?) - 6b(a> + 3ab - 5b%)

§) 3x(x-3)-2x(x-1)+x2x-2) h) (p*-3p)dp) - (3+5pX~2p?)

1)ab-c)+bc-a)+ca-b)  §) 20x%y’-dx’y*Gx+5y-x)

2. Expand and simplify where possible.
a) (7x-2)(3x+5) b) Rh-3)(2h-1) ¢ (z+4)(3z+59)

d) 2(4x-3)(3x-4) e) 5(8x—3y)2x+)) f) -4(a+3b)(2a-5b)

g (Gx-1E-3)-2x(x-1) h) (4x+1)(2x+3) - (x=T)2x-3)

1) 9-2x-1)x +7) +(2x-5)x-3)  §) 3(1+3H)@4-y)-Gy-2Cy-9)
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12 Polynomial Operations Lesson #2: Multiplication of Polynomials - Part One

3. Expand and simplify where possibie.
a) (x-8)? b) (2p+7)? ©) (x-y)? d) 4(5x+2y0

e x+47+(x+2? 0 (Ga-bP-Qa+56P g 3p-172-22y- 1)

h) (x-9)x+9) ) (Bx-2)(3x+2) ) (4m+ 3n)(4m - 3n)

4. Ineach of the following 1) write an expression for the shaded area
11) expand and write the expression in simplest form.
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Answer Key

1.

1-

a) 42x-18  b) -16x-36 «¢) Bxy+ 32z d) —x2+5y e) 42-
N -3a%-15b2+30b% §g) 3x2-9x h) 14p3-62 1) 0 1)-12:‘)-?4-4:‘;’

®) 21x2429x-10  b) 4h%-8h+3 €) 9224272420 d) 24x2- S0x+ 24
) 80x%+10xy-15y% f) 8a2-4ab+60b? g) x*-8r+3  h) 2:2+43:-32
1)-23x+38 D-18y%4+54y+2

a) x?-16x+64 b) 4p?+28p+49 ¢) 9x% - 6xy+y? d) 100x2 + 80xy + 16y 2
© 2:2+12¢+20 f) Sa?-26ab-24b? g) -Syl42y+1 h) x%-81 e
1) 9x?-4 1) 16m?-9n?

+ amswers 10 part i) may vary

a) 1) (x+6)(x-2)+5x i) x?+9x-12
b) 1) (Qx+2)(2c+3)~ (x+4)x+2) H) Sx?+7x-2
¢) 1) (3a-b)a+b) ) %a?+2ab-p?

dDo+aP-yy-1) i) 9y+16
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